Exercises. Cauchy's inteqral formulas

If f (z)is analytic function within and on a simple closed curve C m
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and zg is any interior to C, then M

f(Zo)=21 f f(2) dz or { @) dz = 2xf (zg) (5.1)
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Example3. Evaluate the integral § ———dz, where C is simple closed curve (C is circle
©@z+1)3

z-1=3).

\Z—JJ:3:>\/(X—1)2 + y2 =3, So Cisenclosing zg =—-1 or zg=-1isinside C
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Example 2. Evaluate the value of §Ci23 where C is ‘Z + |‘ =
Z —

‘Z + i‘ =4 = \/X2 + (Y +1) = 4 (circle with radius equal to 4 and center (0,-1)
Zo = 3, Soaswe see that zg is inside C
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Example 3. Calculate f (%) , where f(z) = §C LZ?) dz . Here C is the circle ‘Z‘ =

(z—a)
F(Z)=fo—2"2 4z, n+1=3= n=2. f(z)=tanz
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